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ELBILT Sk (24m’/h) 0 0 0 0 8 10 0 0 1 1 2 2 2 2 0 0 0 0 0 0 0 0 0 0 0 0
AT AT T (0~209/min X 2) 0 0 0 0 48 70 240 1032 179 1114 165 436 0 0 0 0 0 0 0 0 0 0 0 0 0 0
ERERFEGD 12 72 12 132 127 815 208 1080 267 1727 189 905 50 275 0 0 0 0 0 0 0 0 0 0 0 0
KT L —#(600~800ke) 30 180 0 0 33 110 0 0 109 505 22 28 5 5 0 0 0 0 0 0 0 0 0 0 0 0
E—45L—% (3.1m) 1 1 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
RHO—5(3~40) 3 3 1 1 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
Sy hEE Y E @A) 75 344 53 485 499 3222 844 4679 1097 7107 1117 4101 220 1128 0 0 0 0 0 0 0 0 0 0 0 0
25— R T (90~ 110m°/h) 23 196 34 229 14 39 117 225 65 91 64 74 20 78 0 0 0 0 0 0 0 0 0 0 0 0
FAI7IET4=v v(1.4~30m) 3 3 1 1 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
32— hyB(FEFRIL—FE45~56cm) 30 150 0 0 39 42 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
22 S #a s (140kw) 0 0 0 0 0 0 110 220 0 0 93 186 38 38 0 0 0 0 0 0 0 0 0 0 0 0
SE B (200kVA) 0 0 0 0 91 256 110 220 0 0 93 186 38 38 0 0 0 0 0 0 0 0 0 0 0 0
AT 0 0 0 0 0 0 29 116 30 172 28 56 0 0 0 0 0 0 0 0 0 0 0 0 0 0
FTr5v 510608 949 2306 148 364 1081 5611 2722 12069 3289 19231 12238 56572 6080 14311 1635 6726 1636 12724 1273 3818 0 0 0 0 0 0
LTS E(10tH) 0 0 0 0 0 0 671 1341 0 0 292 584 545 545 0 0 0 0 0 0 0 0 0 0 0 0
NoohR™ (0.13m) 0 0 0 0 0 0 22 22 120 614 120 120 0 0 0 0 0 0 0 0 0 0 0 0 0 0
R (045m’) 0 0 0 0 0 0 13 13 0 0 0 0 0 0 0 0 0 0 0 0 i1 44 i1 115 0 0
BES5 LS L (045m) 235 1175 235 2219 0 0 60 104 119 476 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
~0—55L—> (4.9t 0 0 100 500 130 908 44 107 132 175 132 175 42 254 103 267 0 0 0 0 11 44 i1 115 0 0
SITL—IL—2(251) 0 0 44 44 100 700 44 232 167 317 132 175 42 254 103 267 0 0 0 0 i1 44 i1 115 0 0
S577L—r5L— (501 0 0 0 0 0 0 22 22 239 1090 120 204 0 0 0 0 0 0 0 0 0 0 0 0 0 0
[EIEEE A A T4 (180kW) 0 0 90 438 90 102 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
G TREIRE(J/X—X 33kW) 0 0 0 0 0 0 0 0 119 476 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
M TRERE(J/N—Z 41kW) 0 0 0 0 0 0 0 0 132 132 132 132 0 0 0 0 0 0 0 0 0 0 0 0 0 0
= RET fEEIRE(J/X—2X 85PS) 0 0 0 0 0 0 60 104 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
e ) R=2 T2 2 (RFYF55WER) 0 0 0 0 0 0 0 0 0 0 84 84 0 0 0 0 0 0 0 0 0 0 0 0 0 0
i | R—)o G2 (Ha—5% 81kW) 0 0 0 0 0 0 449 2311 330 1748 119 276 0 0 0 0 0 0 0 0 0 0 0 0 0 0
+ | @ BT AR T (0~200/min) 0 0 0 0 0 0 449 2311 330 1748 119 276 0 0 0 0 0 0 0 0 0 0 0 0 0 0
& | B RERFEGD 0 0 0 0 0 0 46 76 70 236 70 77 0 0 0 0 0 0 0 0 0 0 0 0 0 0
*® FSvoS %Y E(44m)) 0 0 0 0 0 0 3 3 219 845 107 175 44 261 217 392 0 0 0 0 0 0 0 0 0 0
29— FE(90~110m/h) 0 0 0 0 0 0 24 24 267 919 146 177 30 171 29 64 0 0 0 0 0 0 0 0 0 0
= 25—k hyB GEFT AT L—FE45~560m) 0 0 0 0 0 0 13 13 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
52 %1% (200kVA) 0 0 0 0 0 0 34 104 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
AURAURT 0 0 0 0 0 0 22 22 120 614 120 120 0 0 0 0 0 0 0 0 0 0 0 0 0 0
52 TS5y 5(0tH) 0 0 0 0 0 0 125 267 288 1585 229 407 0 0 0 0 0 0 0 0 0 0 0 0 0 0
FIVE— (61) 0 0 0 0 0 0 0 0 0 0 0 0 12 15 0 0 0 0 9 11 0 0 0 0 0 0
J\yoR™ (0.08m) 0 0 0 0 0 0 0 0 0 0 0 0 3 3 0 0 0 0 9 11 0 0 0 0 0 0
RS (0.13m) 0 0 0 0 0 0 0 0 0 0 0 0 12 12 0 0 0 0 0 0 0 0 0 0 0 0
INuR™ (045m) 0 0 0 0 0 0 0 0 105 420 105 417 0 0 0 0 0 0 0 0 0 0 0 0 0 0
HESS L L (08m) 0 0 0 0 0 0 0 0 105 420 105 417 12 15 0 0 0 0 9 11 0 0 0 0 0 0
~0—35L—2 (4.9 0 0 0 0 0 0 0 0 49 98 49 196 244 2180 332 1589 140 952 250 1951 100 600 0 0 0 0
~0—5%5L—> (150t) 0 0 0 0 0 0 0 0 105 420 105 417 0 0 0 0 0 0 0 0 0 0 0 0 0 0
IPFAHBET  [STTL—rIL—(20t) 0 0 0 0 0 0 0 0 0 0 0 0 8 73 25 53 21 105 15 15 0 0 0 0 0 0
S7TL—rIL—2(251) 0 0 0 0 0 0 0 0 96 192 96 384 631 6027 749 4966 163 1336 194 1415 194 1164 0 0 0 0
JREIRE (1)/\—R 185kW) 0 0 0 0 0 0 0 0 105 420 105 417 0 0 0 0 0 0 0 0 0 0 0 0 0 0
BB HEEGD 0 0 0 0 0 0 0 0 24 93 24 93 0 0 0 0 0 0 0 0 0 0 0 0 0 0
FSuh3% 4 E @) 0 0 0 0 0 0 0 0 247 836 332 1328 2020 19960 2224 14102 382 3143 629 4848 491 2941 0 0 0 0
S A — R TE(90~ 110m /h) 0 0 0 0 0 0 0 0 13 66 20 80 60 584 60 393 11 92 23 137 14 83 0 0 0 0
REHO—5(0.8~1.1t) 0 0 0 0 0 0 0 0 0 0 0 0 12 15 0 0 0 0 9 11 0 0 0 0 0 0
B2 TSy 5(10t5E) 0 0 0 0 0 0 0 0 66 259 85 257 261 323 0 0 0 0 39 39 0 0 0 0 0 0
NosR™ (0.28m) 0 0 0 0 0 0 0 0 0 0 0 0 0 0 22 22 101 399 0 0 0 0 0 0 0 0
IR (045m) 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 30 35
RS (05m°) 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 1 1 0 0 0 0 0 0
20—35L—> (490 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 1 1 0 0 0 0 0 0
S57TL—rIL—2(251) 0 0 0 0 0 0 0 0 0 0 0 0 0 0 14 40 0 0 14 14 0 0 0 0 150 155
S57FL—rL—(501) 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 il il 42 165
E—4FL—% (3.1m) 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 6 10 0 0 [ 0 0 0 20 58
4IBRT O0—FO—3 (10~12t) 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 6 10 0 0 0 0 0 0 20 58
24 0—3 (8~20t) 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 6 10 0 0 0 0 0 0 20 58
RHO—5 (3~4t) 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 3 5 1 1 0 0 0 0 6
FSwoSEH—B(44m)) 0 0 0 0 0 0 0 0 0 0 0 0 0 0 7072 28423 0 0 645 2044 1050 2099 0 0 345 345
Z&#(90~ 110m’/h) [ [ 0 0 0 0 0 0 0 0 0 0 0 0 134 558 0 0 19 61 90 179 0 0 8
w4 (1.4~3.0m) 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 3 5 1 1 0 0 0 0 6
32—t hyB(EFRTL—FE45~560m) 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 30 35
H TSy 5(0tH) 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 91 162 2 2 0 0 0 0 29 171
DIy MEIL— 0 0 0 0 0 0 0 0 0 0 0 0 0 0 22 44 0 0 22 22 22 44 0 0 0 0
SAMIMBET oohg 0 0 0 0 0 0 0 0 0 0 0 0 0 0 22 44 0 0 22 22 22 44 0 0 0 0
IL—VEEBHFFSY (B 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 ] 8 6 52 2 12 0 0
L= BB RSV (4) 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 18 36 27 234 9 54 0 0
S5IFL—rIL—2 (50 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 18 36 27 234 9 54 0 0
S7FL—vIL—r (120 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 32 64 48 416 16 96 0 0
S57FL—rIL—1(16t) 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 6 6 0 0 24 24 0 0 0 0
SIFL—oIL—2 (250 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 6 54 42 102 69 582 32 258 11 22
S577L—rIL— (500 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 16 32 24 208 8 48 0 0
F595 9L —2(400t) 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 5 5 0 0 20 20 0 0 0 0
F—ILFL—HL—> (100t 0 0 0 0 0 0 0 0 0 0 0 0 0 0 24 120 ] 339 24 72 43 258 43 516 43 86
MEIL—Y 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 [ 66 [ 132 11 11 0 0 0 0
24—2UIk(20) 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 44 88 66 572 22 132 0 0
329 Y—kR>FE(90~110m3/h) 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 18 36 27 234 9 54 0 0
ERE 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 114 230 0 0 416 920 0 0 0 0
rSv5(4t) 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 2 2 0 0 8 8 0 0 0 0
rSv5(10t 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 20 20 0 0 80 80 0 0 0 0
EERFL—5—(331) 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 5 5 0 0 20 20 0 0 0 0
BEyAE 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 55 232 76 477 192 1012 61 267 10 16
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B T & IR JESE] __2%H 3EH 4FH [3E] (3= %8 84 H 9FH [ESE] NE: = 12: _ 135FH
= BAEB/A| REBE [BRAER/A]| RERE [BXEWA | BEWE |RASBA | BEBETF [RAER/A| BREWE [BRERA| REWE |BRASWA| BEWE |BRAEBRA| RERETF [BRRXERA| RERE [EXEWA| REWE |RAEWA| REWE [RASBA] KEREF [BRRXEW/A B3
TIVE—H (6D 0 0 0 0 0 0 137 465 96 384 96 384 118 988 118 935 166 840 70 187 0 0 0 0 0 0
J3w7"(0.08m°) 0 0 0 0 0 0 96 192 96 384 9 384 118 988 118 935 166 840 70 187 0 0 0 0 0 0
73R (0.28m°) 0 0 0 0 91 526 0 0 21 106 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
734" (0.45m") 0 0 30 72 90 168 1 1 16 80 48 122 1 42 0 0 0 0 0 0 0 0 0 0 0 0
18RS (0.8mY) 0 0 0 0 0 0 137 273 30 60 30 95 12 36 0 0 0 0 0 0 0 0 0 0 0 0
LlES 54 2J0(0.45m%) 0 0 0 0 0 0 78 294 50 500 72 660 72 144 0 0 0 0 0 0 0 0 0 0 0 0
SHFYTLTIL0.8m") 0 0 0 0 0 0 96 192 96 384 96 384 118 988 118 935 166 840 70 187 0 0 0 0 0 0
£8—59L—2(49D 0 0 0 0 111 562 25 49 46 204 25 98 43 380 43 403 65 402 40 116 0 0 0 0 0 0
£8—59L—2/(50t) 0 0 0 0 367 661 416 2355 416 4763 410 2031 60 214 0 0 0 0 0 0 0 0 0 0 0 0
£B—59L—(100t) 0 0 0 0 734 1262 840 4652 840 9490 840 4118 120 416 0 0 0 0 0 0 0 0 0 0 0 0
SITL—2IL—(25) 0 0 0 0 294 2468 369 2489 75 605 102 893 223 1037 43 403 95 495 40 116 0 0 0 0 0 0
S7TL—IL—(500 0 0 0 0 0 0 174 384 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
[EIE5E AALFTHE(180KW) 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 10 19 0 0 0 0 0 0 0 0
H0—5HT7—RF—H (90kW) 0 0 0 0 35 52 10 10 15 15 6 6 4 4 0 0 0 0 0 0 0 0 0 0 0 0
SHEEHUE A5 $RH%(110~1601) 0 0 0 0 0 0 27 133 0 0 0 0 0 0 0 0 30 93 0 0 0 0 0 0 0 0
A/ 3 —R 33kW) 0 0 0 0 0 0 78 78 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
RN T |JEBIE)/ AR 41w) 0 0 0 0 24 38 0 0 7 7 0 0 11 32 0 0 0 0 0 0 0 0 0 0 0 0
g [/ \—Z 85ps) 0 0 0 0 0 0 72 216 50 500 72 660 72 144 0 0 0 0 0 0 0 0 0 0 0 0
HEHIEEMX-150 ) 0 0 0 0 367 631 420 2326 420 4745 420 2059 60 208 0 0 0 0 0 0 0 0 0 0 0 0
= FEME SR R AR T AR (1 1kW) 0 0 0 0 270 2430 270 2091 0 0 30 30 198 401 0 0 0 0 0 0 0 0 0 0 0 0
R—) 2T AR FYRE5KWHR) 0 0 0 0 0 0 174 306 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
A=) F=L 2 (Za—5%! 81kW) 0 0 0 0 0 0 204 300 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
+ B4 BEEE(12m°/min) 0 0 0 0 367 631 420 2326 420 4745 420 2059 60 208 0 0 0 0 0 0 0 0 0 0 0 0
E AL TS 24m /h) 0 0 0 0 1 2 1 1 1 1 1 1 1 1 0 0 0 0 0 0 0 0 0 0 0 0
FHSE AR TF(0~200/min) 0 0 0 0 0 0 204 300 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
SBIERHFE (L) 0 0 0 0 101 291 149 691 197 1942 153 1117 36 187 0 0 0 0 0 0 0 0 0 0 0 0
R EITL—71(600~800ke) 0 0 0 0 0 0 0 0 16 63 48 121 9 9 0 0 0 0 0 0 0 0 0 0 0 0
RSy ST Y —E(44m) 0 0 0 0 431 1213 649 2897 815 7495 815 4847 157 638 0 0 0 0 0 0 0 0 0 0 0 0
25— (90~ 110m/h) 0 0 0 0 0 0 45 45 0 0 30 30 0 0 0 0 0 0 0 0 0 0 0 0 0 0
25—t hyBGEITRT L—F#45~560m) 0 0 30 42 60 60 0 0 9 9 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
22 SUE fiEh(140kW) 0 0 0 0 270 2430 270 2091 0 0 30 30 198 401 0 0 0 0 0 0 0 0 0 0 0 0
FEHE(200kVA) 0 0 0 0 270 2430 1342 2307 50 500 102 690 198 545 0 0 0 0 0 0 0 0 0 0 0 0
ZLIRSvoa0n 0 0 94 129 345 1472 6015 17009 2506 12738 2503 11757 2370 20159 2308 17351 3842 18192 2309 5677 0 0 0 0 0 0
E s 4[00) 0 0 0 0 885 7965 885 7701 0 0 46 46 692 1430 0 0 0 0 0 0 0 0 0 0 0 0
J3y978"(0.13m°) 0 0 0 0 0 0 0 0 0 0 60 134 0 0 54 54 0 0 0 0 0 0 0 0 0 0
BBEZS LS 1)1(0.45m") 0 0 0 0 0 0 0 0 0 0 33 174 0 0 0 0 0 0 0 0 0 0 0 0 0 0
H0—55L—2(4.9t) 0 0 0 0 0 0 30 60 30 132 67 321 34 84 22 88 22 65 0 0 0 0 0 0 0 0
SITL—HIL—(250) 0 0 0 0 0 0 30 60 30 132 67 495 60 173 60 178 22 65 0 0 0 0 0 0 0 0
SITL—2IL—(500 0 0 0 0 0 0 0 0 0 0 60 134 0 0 60 132 0 0 0 0 0 0 0 0 0 0
TRAHE() S—Z 41kW) 0 0 0 0 0 0 30 60 30 49 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
JEAIHE()/N\—X 85ps) 0 0 0 0 0 0 0 0 0 0 33 174 0 0 22 88 22 65 0 0 0 0 0 0 0 0
2 RBT R AR FYFE5kWER) 0 0 0 0 0 0 0 0 0 0 0 0 0 0 60 78 0 0 0 0 0 0 0 0 0 0
G R T2 A(HB—57 81kW) 0 0 0 0 0 0 120 360 0 0 120 692 0 0 0 0 0 0 0 0 0 0 0 0 0 0
# SE AR F(0~208/min X2) 0 0 0 0 0 0 120 360 0 0 120 692 0 0 0 0 0 0 0 0 0 0 0 0 0 0
=3 ERHEE(8t) 0 0 0 0 0 0 12 22 13 33 11 83 0 0 11 37 11 21 0 0 0 0 0 0 0 0
~ | B8 N ) 0 0 0 0 0 0 34 54 34 98 53 329 709 732 968 1145 34 83 31 31 0 0 0 0 0 0
| Al 25— (90~ 110m*/h) 0 0 0 0 0 0 42 73 27 78 51 201 15 25 31 83 17 33 6 6 0 0 0 0 0 0
T | # FBHQ200kVA) 0 0 0 0 0 0 0 0 0 0 33 174 0 0 0 0 0 0 0 0 0 0 0 0 0 0
ER AJLFIRT 0 0 0 0 0 0 0 0 0 0 60 134 0 0 54 54 0 0 0 0 0 0 0 0 0 0
i FTSvH(0D 0 0 0 0 0 0 114 173 34 97 217 521 0 0 32 107 32 61 0 0 0 0 0 0 0 0
~ TILE—H(6t) 0 0 0 0 0 0 0 0 0 0 0 0 1 1 0 0 2 3 1 1 20 23 0 0 0 0
R i) 0 0 0 0 0 0 0 0 0 0 45 135 90 420 0 0 0 0 0 0 0 0 0 0 0 0
J3y7"(0.08m°) 0 0 0 0 0 0 0 0 0 0 0 0 1 1 0 0 2 3 1 1 20 23 0 0 0 0
BBESS LS 1)L(0.8m") 0 0 0 0 0 0 0 0 0 0 0 0 1 1 0 0 2 3 1 1 20 23 0 0 0 0
H0—55L—(4.9t) 0 0 0 0 0 0 0 0 0 0 0 0 237 941 382 1772 382 2733 280 2941 803 3096 540 1856 0 0
HB8—559L—(150t) 0 0 0 0 0 0 0 0 0 0 45 135 90 420 0 0 0 0 0 0 0 0 0 0 0 0
SIFL—2HIL—(250) 0 0 0 0 0 0 0 0 0 0 22 44 447 1776 712 3318 712 5087 521 4704 413 2817 22 91 0 0
SEAHEET  |STTL—IL—1(60t) 0 0 0 0 0 0 0 0 0 0 22 44 0 0 0 0 0 0 0 0 0 0 22 66 0 0
B ER 0 0 0 0 0 0 0 0 0 0 22 44 0 0 0 0 0 0 0 0 0 0 22 66 0 0
HEEIAE()/ S—2 185kW) 0 0 0 0 0 0 0 0 0 0 45 135 90 420 0 0 0 0 0 0 0 0 0 0 0 0
SHIERHFE(8t) 0 0 0 0 0 0 0 0 0 0 18 53 41 191 0 0 0 0 0 0 0 0 0 0 0 0
HEEO—S(08~1.10) 0 0 0 0 0 0 0 0 0 0 0 0 1 1 0 0 2 3 1 1 20 23 0 0 0 0
RSy A4 0 0 0 0 0 0 0 0 0 0 43 129 611 2960 611 4112 775 7088 816 7649 570 5464 893 2055 0 0
29— FE(90~110m /h) 0 0 0 0 0 0 0 0 0 0 45 135 46 255 12 84 16 139 17 144 13 93 28 45 0 0
2 FIrSvo30D 0 0 0 0 0 0 0 0 0 0 33 99 37 264 10 10 29 54 15 15 119 119 431 431 0 0
N5 (0.28m°) 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 29 165 49 149 47 159
STTL—2HL—2(25) 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 15 30 15 54 28 9% 0 0
E—BJL—5G.1m) 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 15 71 0 0 7 11
O0—FO—5(10~12t) 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 15 71 0 0 7 11
A4¥a—5(8~20) 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 15 71 0 0 7 11
RHO—S(3~40) 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 7 7 0 0 5 9
7 RI7INTA= 3 %(1.4~3.0m) 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 7 7 0 0 5 9
) 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 1699 10194 1330 5318 2274 5696 0 0
29— T E(90~110m/h) 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 32 192 37 147 45 114 0 0
S TSvH(10t 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 83 196 64 64 91 152
PEIL—Y 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 22 66 0 0 0 0
BETR= 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 22 66 0 0 0 0
IL—EBFTY @Y 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 6 36 6 36 0 0
IL—EBFSY @) 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 27 162 27 162 0 0
SITL—HL—1(5) 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 27 162 27 162 0 0
SITL—rhL—2(12t) 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 48 288 48 288 0 0
SITL—2IL—/(160) 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 18 18 0 0 0 0
SITL—2hL—(25) 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 69 410 81 594 18 76
SITL—rHL—(50t) 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 24 144 24 144 0 0
FSwHHL—(100t) 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 10 90 10 30 55 435 55 660 55 266
FSwHHL—/(400t) 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 15 15 0 0 0 0
TA—=5YTH2Y) 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 66 396 66 396 0 0
29— T E(90~110m’/h) 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 27 162 27 162 0 0
ERE 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 342 690 0 0 0 0
) 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 6 6 0 0 0 0
FSv5(10t) 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 60 60 0 0 0 0
{EFRFL—5—(330) 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 15 15 0 0 0 0
FFRE 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 9% 282 133 665 10 16
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S T & ey ] 158 ] 2%H REE] 458 5% H 64F 5 JETE] 8% H 9FH 1058 IRESE] ] ] 128 ] 13 H ]
- BAEB/A| RERE |BRAER/A]| RERE [BRXEWA| BEWE |RAEBA | BEWETF |RAERA| RERE [BREWA| KEWE |BAERWA| BEWE |RAEBA] BERWETF [RREB/A| RERE [BEXEWA| BEWE |RAEWA| REWE |BRAEBA] KEREF [BRERA[ BEWE
JILE—4(15t) 0 0 0 0 0 0 0 0 [ 0 0 0 0 0 0 0 0 0 8 8 0 0 3 3 0 0
J\uH(045m°) 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 10 18 0 0 3 3 0 0
I\ ™(08m°) 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 2 2 83 268 90 1058 88 264 0 0
IL—HERESY 4D 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 18 18 0 0 0 0 0 0 0 0
£8—59L—2(49) 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 22 44 22 114 0 0 0 0 0 0
£B—59L—(1001) 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 22 44 23 155 0 0 0 0 0 0
£8—59L—/(2001) 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 22 110 0 0 0 0 0 0
£B—59L—/(750t) 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 22 110 0 0 0 0 0 0
SITL—2HL—(25) 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 99 137 115 531 76 209 10 18 0 0
1 #EHIT S7TL—2IL—2@5) 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 3 3 3 9 0 0 0 0 0 0
ST7TL—2HL—(500 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 32 32 0 0 0 0 0 0
SHHEEFE AH(40t) 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 28 28 0 0 0 0 0 0
~B8—5F1))U130ps) 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 16 16 88 352 66 183 0 0 0 0
G AEITL—H(1,300kg) 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 10 13 0 0 0 0 0 0
i) E—5—JL—4%G.1m) 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 12 12 0 0 0 0 0 0 0 0
=8 O—Fa—5(10~12t) 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 9 18 0 0 0 0 0 0 0 0
~ | % S4¥O—5(8~200 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 6 12 0 0 0 0 0 0 0 0
i Z’f 25 )—hR T E(90~ 110m’/h) 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 3 8 0 0 0 0 0 0
T nJ T ZAITFIETA= S %(2.4~6m) 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 3 3 0 0 0 0 0 0 0 0
BR| ™ TILE—4(32t) 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 22 22 0 0
i) J\uH(045m°) 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 22 50 0 0
~ 18y ERA0.45m°) 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 11 36 0 0
IL— BRSO 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 88 176 0 0
28—59L—2(49D 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 61 200 0 0
2. NEMEET  [4o—SHL—(00) 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 61 200 0 0
e ) 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 5 5 0 0 0 0
S7TL—HL—(25) 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 15 15 11 44 0 0
SITL—HIL—1(350 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 18 42 0 0
SFHFEFE AB(40t) 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 14 28 0 0
FSvH3EH B A 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 88 176 0 0
S = PAEISL— 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 22 22 22 110
3 AR AHET BEFR= 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 22 22 22 110
FSwHHL—(400t) 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 16 16 16 32
4. BREMWERET |SoTL—>oL—205) 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 4 4 22 42
BFR= 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 38 38 127 765
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= 3-4-1(1)

EMRUBHEBOERICAVETDOETER

- E3E] 2% H RETE] 4% H 5% H 65 H JEE] 8% H LEE] 10468 ]
BRREH/A | REBVE | BRREH/A | REB/E |BREH/A | RE/E | BREVA | REE |BREHVE | REVE | BRREH/A | REBV/E |RREHV/A | REN/E | BREVA | REE | BREV/A | REVE | BRREH/A | REV/E |RREH/A | REVE
({%?EA:E%F"#T o) 1) 1,251 12,653 1,249 14,987 5,346 54,179 5,805 66,638 5,984 51,347 4,834 43,939 4,835 24,664 860 2,045 1,337 7,781 473 1,806 487 621
£ 34-1(12) BEMRUBHEOERICAWVSEMOETEHR
B E3E] 2% H RETE] 4% H 5% H 65 H JEE] FEE] 95 H 10468 1148 128 1358
BRREH/B | REVE | BRREH/A | REB/E |BREH/A | REV/E |BREVA | REH/E |BREHVE | REVE | BRREHVA | RERV/E |RREH/A | REV/E | BREVE | REWE | BXEHV/A | KREVE | BRREH/A | RERV/E | BRREH/A | REVE |BREVA | RElVE | BXESVA | RelvsE
(3?%«%) 2) 1,760 9,390 5,904 30,244 1,727 7,080 8,096 94,215 7,895 83,404 1,084 4,501 7,089 13,994 7,800 54,178 950 7,264 578 3,203 112 1,296 98 196 76 145
-, LY p— I P Al
# 3-4-13) BEHMRUBHOERCAWIERDETEH
B 158 2% H 3%H PEE] 548 645 B ESE] =] LESE] 1058 1145EH 12458
BRAEBH/A | BER/EFE |BRREHA | LEWE |BREMA | BEVE |BRAEH/A| BER/E | BREH/A | RER/E | BREH/A | REN/E | BREH/A | KREME |BRENA | KEE | BRREH/A| KEWE |BRREH/A| KEH/E | BREH/A | LE/E | BREH/A | KLealvE
(;t%%> 3) 2,484 13,010 2,484 2,762 5,398 21,529 6,673 13,913 8,476 93,973 8,476 82,643 8,800 69,350 1,206 8214 565 4,186 112 1,344 111 479 78 195
-, ol p— I P Al
= 3-4-14) BHMRUBHOERCAWIERDETEH
1877 [E3E] 2% H 3%H 45 H 5% H 6% H 715%H 8 H 9 H
BRAEH/A | BER/TFE |BRREHA | LEE |BREMA | REVE |RRXEH/A| BE/E | BREH/A | BER/E | BRES/A | KEN/E |BREH/A | KREVE | BREH/A | KEelVE | RRXEH/A| KelvE
(;E?%%> (4) 1,356 7,370 1,356 7,058 5,632 20,078 1,753 4573 396 2,305 472 4,858 110 1,188 110 823 78 227
-, ol - I =
= 3-4-16) BHMRUBHOERCAWVIERDETEH
B 1458 2% H 3%H 4% H 598 6B JESE] 848 [ESE] 1058 1148 12458
BRAEH/A | BRER/TFE |BRREHA | LEE |BRENA | BEE |BRAEH/A| BER/E | BAEH/A | RER/E | BAEH/A | REN/E | BREH/A | BEME |BREMA | KREME | BRREH/A| KRENE |BRREH/A | KRER/E | BREH/A | LE/TF | BREH/A | LEalv/E
(;Eg%%> (5) 724 4,934 724 8,688 905 9,146 4,820 27,180 15,393 95,874 17,072 169,794 1,191 5,154 14,942 73,992 2,328 13,557 156 1,723 102 534 76 199
-, ol p— I P Al
=& 3-4-16) BHMRUBHOERCAWIERDETEH
B 1£8 2% 3FH 4%H 5% H 64 H ESE] 8% H 9%H 104£H [RE:3:] 1245
BAREH/A | BREWE |BREH/A| KEl/E |BAEH/A| LES/TFE |BREH/A | LEM/E |BRREMA | KREWE |BRAEH/A | BRENR/TE | BRAEH/A | REH/E |BREHA | KRENE |BREH/A | KEH/E | BRAEH/A| RER/E |BRREH/A | LEelVE |BREMA | Khelve
(3?%[[2]) 724 4,934 724 8,688 905 9,146 4,820 27,180 15,393 95,874 17,072 169,794 1,191 5,154 14,942 73,992 2,328 13,557 156 1,723 102 534 76 199
(6)
(EF%E%E) 0 0 0 0 832 9,982 4,148 33,965 507 5517 414 3,545 12 132 36 258 37 343 27 138 0 0 0 0
ﬁﬁiﬁ A & 724 4,934 724 8,688 1,737 19,128 8,968 61,145 15,900 101,391 17,486 173.339 1,203 5,286 14,978 74,250 2.365 13,900 183 1,861 102 534 76 199
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=& 3-4-1(D)

EMRUBHEBOERICAVETDOETER

B E3E] 2% H 3%H8 4% H 5% H 65 H JEE] 8 H 9% H 10468 1148 128 1358
BRREH/A | REV/E | BRREH/A | REBV/E |BREH/A | RENE | BREHVE | REH/E |BRXEHV/E | REHV/E | BRREH/A | RERV/E | RREHV/A | RENE | BREHVA | REE | BXEHV/E | REHVE | BRREH/A | REHV/E | RREH/A | REV/E |BREV/A | REVE | BRXEHVAE | RelVE
(07) 1100 6072 528 4268 2948 18546 3366 26796 7326 54384 15004 78562 7964 52184 8470 61886 3256 27720 2706 20768 1892 10296 132 902 418 1100
(08) 0 0 0 0 1584 9900 3256 21318 1716 11264 11748 55528 4884 28512 7722 43802 176 484 0 0 440 1342 0 0 0 0
(09) 0 0 0 0 616 3608 374 4488 374 3190 5280 23892 2090 11792 3630 17314 88 176 0 0 0 0 0 0 0 0
(10) 0 0 0 0 1584 9900 3256 21318 1716 11264 11748 55528 4884 28512 7722 43802 176 484 0 0 440 1342 0 0 0 0
(11) 572 2904 220 2332 1760 7436 1760 4532 3784 23056 2068 10648 2112 15708 2024 9328 1848 16104 2024 12936 616 4048 88 528 0 0
GithX
(b TER)
(12) 1056 3168 308 1936 308 1210 264 946 3212 19998 2156 12298 1342 7964 1584 8756 1364 11132 1100 7832 880 4906 110 374 418 1100
(13) 0 0 132 220 2882 16324 12034 47234 5302 36630 5280 35024 4928 41426 4576 34430 5808 39094 8382 64196 13816 141218 12606 57266 418 2750
(14) 0 0 0 0 1188 3740 7128 23408 2640 19316 2640 17380 2464 18172 2684 14740 2244 15048 7788 45232 11968 129228 11748 49940 396 2464
(15) 1056 3168 308 2156 1738 13794 5060 24904 4818 37378 4620 29942 3806 31218 4070 28446 4884 35178 4070 26796 2464 16632 1628 7700 440 1386
(16) 1056 3168 308 2156 1738 13794 5060 24904 4818 37378 4620 29942 3806 31218 4070 28446 4884 35178 4070 26796 2464 16632 1628 7700 440 1386
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